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Canvass Results Milam County, TX Official results

Registered Voters
Official Tally 2020-3-3 Primary 5351 of 15092 = 3546 %

Run Time 252 PM 3/3/2020 Polling Places Reporting
Run Date 03/11/2020 Page 2 of 66 13 of 13 = 100.00 %

President and Vice President - Republican Party
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Precinct = & 2
101 928 2349  3951%
105 309 1137 2718%
203 130 385 3377 %
207 119 597  1993%
210 153 528 2898 %
212 470 1951 2409 %
316 233 661  3525%
317 445 1118 39.80 %
318 627 2326 2696 %
419 407 1959 2078 %
420 430 2081  20.66%

Totals 4251 15092 28.17 %
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